Name: ____ \?ﬁ\é}‘eq’cﬁgi\ghaufe?\% N BN

Homeroom: Date: NG : i\\\

Pre-Algebra CHAPTER 7 Test
WRACTICE 72

Solve. (2pts each)
1) 1Ma-13=72.8
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Answers

noz="1.8

2) %+6= 29
—t —6
M = 7%
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3) -123-¢=-192
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3) C= 69

12+ 10 = 38. &
- 1O = =10

(20 = 28. &%
=12 =1
ol = 2.4

4 ol= 2.4




Solve. (2pts each)

5) 9@ 27)=-30.6 5 € =30
de. - (3 = —30.6
+ 6% + 63
Qe = 32.4
e = 3.6
8) 0.5(7f+2) =267 _
6)‘F:76
3.5F + | = 267
_{ — ,
3.5F = 266
= 3.5 ~ 3.5
£ =76
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Solve. (3pts each)

9) $(m—5)=12 9) m=20
L _ ' .
+ou koo
L .
T :hf_gg;_;’i_ = ?xf_’:'t 70
+ | > -
3
m= 20
10) On Tuesday Sarah bought five hats. On Wednesday she gave half of all the . '
hats she had to charity. On Thursday she had 17 hats left. How many hats did she | 10) 2 hats
have on Twigsday? _
MoNDAY
- +5 = | 7” )
AN
o+ 5 = 34
-5 -5
> = 729
"1y Together Mrs. B, Mr. T and Miss S have 285 tests to grade. Mrs. B has n
tests. Mr. T has one more than Mrs. B. Miss S has one more than Mr. T. Write 11y N = {;f)bf

an equation and solve to find out how many tests Mrs. B has to grade.

() + (n+1)+ (m-;—z,): 285
3”1 + 3 = 285

,3 —3
3n = 282
53 T3
n= 94

12) Dwayne is taking an art class. He bought some drawing pencils for $0.97
each and 1 sketchpad for $5.95. He paid $11.77. Write an equation and solve to
find out how many pencils Dwayne bought.

OOQ7P+- 5.95 = |1.77

- 5.5 -5.95

Q-97p = 5.82

£0.97 ~0.97
p=c .
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Solve. @3ptseach)
ot n;sﬁﬁiﬁl—m

~[1.5 = N

13y =15

14) 5m+72=6(2m-5)+4

12w —30

q% = T
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——514,\ 7 —54'\;.
17 = Tm - 26
+ 706 tlh

1y =l

15) 3(x +6) = 4(x — 9)

[3dls ig]= x| C?Z;"
T3x. ~ 3=
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5y
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Solve the inequalities. Graph the inequality. (2pts each) -

15X =54

16y o> 25



Solve the inequalities. Graph the inequality. (2pts cach)
17) 19+8=<6+7x

17) o= 3
27= @+ 1o
"'Q —-é;
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Solve for the variable bolded. (2pts each)

19) 2m=a +6z
#5 5 xS

19)az 10m=-62

Do = A + &2

- b - 6z
Om-bz=a

-1 =7 =

20)y 7.—_7
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